PENPLUS SCHOOL BASED EVALUATION TEST
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READ THESE INSTRUCTIONS CAREFULLY
Use only an ordinary pencil.
2. Make sure that you have written on the answer sheet.-
(I} YOUR NAME (II) NAME OF YOUR SCHOOL
3. For each gquestion show the correct answer by drawing line in the brackets in which the leiter you have
choosen is writien.
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Study the map of Luna area and answer
guestions 1-7.

What is the approximate length of the tarmac road
from the junction at Luna town up to its end at Kina
market?

A. 8km. B. 11km

C. 13km D. 15km

The general direction of flow of Lunariver is from:-
A. North to South

B. North-West to South-East

C. South-West to North-West

D. North-West to South-West

The MAIN economic activity carried out in Luna
area is:-

A. subsistence farming

B. cash crop farming

C. cattle keeping

D. mining

The climate experienced in the Southern part of Luna
area is LIKELY to be:-

A. hotand dry

B. cool and wet

C. hot and wet

D. cool and dry ;
Luna area is administered by:-
A.chief

B.atown clerk

C. adistrict officer

D. a district commissioner

The approximate area of Luna town is:-

A.25km?
B.25cm?
C. 30km?
D. 30cm?

The settlement in Luna area can be described as:-

A. nucleated settlement
B. dense settlement
C. scattered settlement
D. linear settlement

Rotation causes:-

A. seasons

B. difference in time

C. difference in climate

D. day and night

Accra in Ghana is located on longitude 0° while
Berbera in Somalia is located on longitude 45°E.
Caleulate the time in Berbera if the time in Accra is

" 7am
A. 10p.m B. i0a.m
€.1]l am D.11 p.m

10.

11.

12.

13.

14.

15.

16.

17.

The diagram below shows a certain physical feature.

The feature 1s:-

A.avalley B. an escarpment
C.fold mountain D. an anticline

Which of the following highlands are found in
Cameroon?

A. Ahaggar highlands

B. Tibesti highlands

C. Adamawa highlands

D. Fouta Djallon highlands

Which one of the following types of rainfall
commonly occurs in Kisumu county?

A. Convectional rainfall B. Reliefrainfall

C. Cyclonic rainfall D. Fronial rainfall

The main problem threatening forest vegetation in
Eastern Africa is:-
A. deforestation
C. wild animals
The Miombo woodlands of Tanzania are an example
ofi-

A. atropical rain forest

B.mangrove forest

C. wooded savannah vegetation

D. savanna grassland vegetation

Trees that shed their leaves at different times of the

B. High temperature
D. insect such as locusts

year are known as trees.
A. seasonal B. hardwood
~ C. decidous D. umbrella shaped

Which of the following communities are Cushites?

A. Rendille and Samburu
B. Borana and Galla

C. Gallaand Turkana
D. Borana and Maasai

Which one of the following areas in Africa is
sparsely populated?

A. Nile valley

B. Lake Victoria

C. Highlands

D. Namib
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23.

24.

235.

he set of beliefin a community about what is right
or wrong in socicty is called:-

A. child right 3. child labour

(. mora] values D. human right

The person incharge of school discipline is:-

B. headteacher

D. chairmari of the school

A. deputy headteacher
(. senior teacher

. Civil marriage is conducted by:-

B. deacon
D. magi$trate

The MAIN cash crop grown in Ghana is:-
A. pyrethrom | B. cocoa
C.tea % D. clove

i'se the niap of Africa below to answer
questions 22:26

ot

The dam marked P was built mainly to:-
A. provide water for irrigation

B. create a lake for fishing

* . C. provide hydro-electric pdwer

D. control floods

The climate marked M is called:«

A. Mediterranean B. Equatorial

C. Savannah D. Mangrove
The island marked T is:-

A. Mauritius B. Zanzibar

C. Comoros D. Madagascar
The country marked R was colonized by:-
A. Britain B. Germany

C. Portugal D. Italy

26.

28.

29

31

32.

33

34.

3s.

36.
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“The tare 1 uked S was formed tion
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D. volecanic actis iies
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Which-one of til?foIIGW'_i11g is NOT a pa 1ol
community in Africa? i 2 y
B. Fulani

C. Tswana D. Chagga

Thé MAIN reason wny Aswan High Dam a.
established was to:-

A. provide water for irrigation

B. control lood

C. provide hydro electric power

D. create employment

The MAIN forest found in Democratic Repul-hn
of Congo is:-
A. planted
C. natural

B. mangrove
D. alpine

. The MAIN benefit of forest to-the econom; of

Swaziland is:-

A. earn foreign exchange

B. create employment

C. developmerit of industries
D. development of road =

The method used to mine petroleum in Nigeria is:-

A. drilling B. shaft

C. open cast D.dredging v
South Africa is leading in the production of :-
A. copper B. gold

C. petroleum D. copper

Which one of the following minerals for used tor
making glass soup and papers?

A. Limestone B. Fluorspar

C. Diatomite D. Soda ash

The method used to catch fish which live near the
surface of the water and are found in large group is
called:-

A. Net-drifting B. long-lining

C. purse seining D.trawling

The MAIN problem facing fishing industry in Africa
is:-

A. overfishing

B. pollution

C. poor transport

D. Lack of processing and storage facilities

The headquarter of COMESA is situated at:-
A. Nairobi ¥ £

B. Kampala

C. Lusaka

D. Juba
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40.

41.

42.

43.

45.

16:

v Intraditional African communities the basic unit of

~ AL Indwrect rule

D. Charity Ngilu !

The first Prime Minister of Kenya was:-

A. Raila Odinga

B. Jomo Kenyatta .
. C. Willy Mutunga o ‘

The last conntry in Africa to achieve indepéndence
was:-

A. Sudan B. South Africa -
C'. Ghana D. Southern Sudan

The MAIN tourist attraction along the coast of
Alrica is:- :

A. Historieal site B.Sandy beaches

C. Wildlife- D. Mangrove forest

The capital ¢city of Tanzania is:-

A Dodoma - __B. Arusha

C. Dar-es-Salaanr ~ D. Tanga

the MAIN means of transporting petroleum in
Kenyas:

A ;‘npclmu B. cables

. roads D. water

The MARN crop grown in Mwea Tebere i 11rlgdnon
scheme is:-

A, onions B. cherries

C.Rice D. cotton

The MAIN sugar growing area in Sudan is called:-
A. Tuba B. Khartoum

C. Kenana D. Keffar

Who among the following traditional Kenyan leader
collaborated with the British during the
estiblishment of colonial rule?

A Waiyaki wallinga  B.Mekatilili -

C. Samovei D. Sakawa

social organizetion was the:-

A family . B. the clan

C. the age group —~ D. the warriors

The method used by the Belgians to administer
Congo was:-

B. direct rule

C. assimilation D. association

The headquaters of African Union is situated at:-
A. Nairobi B. Arusha

C. Tripoli D. Addis Ababa

The tirst \\.omunl in Africa to win Noble Peace Prize
was;-

A, Mama Ngina I\enyalta

B. Martha Karua

C. Wangari Mathai

D. Musalia Mudavadi

49. W ho v.as the third Vice President of republic. of

A Joseph Murumba
B laramogi Oginga Odinga
O Mwai Kibaki
. Daniel Moi A s
50. 1he body incharge ofc.onductmg and supervising
celection in I\.cn)dls -
A. Flectoral Commission of Kenya
B. Independent Electoral and Boundaries
Commission
C. ludiciary Commission of Kenya
3. Human right Commission of Kenya
S1. The President and Deputy President are sworn in
by -
A. Chief Justice : , <
B. Magistrate T
C. Speaker
D.C hief Whip
52. A county government in Kenya is administered by:-
A. A County Assembly
B. A County Executive Committee
C. A Speaker
D. A Governor

33. Which of the following is a modern method of

preserving fish?
A. Salting
C. Refrigeration

B. Sun-drying
D. Smoking

54. The best way to attract more tourists to the country -

is to:-
A. train mote tour guide
B. fence all the game parks
C. increase the number of tourists Hotels
D. advertise tourism in foreign countries
55. Threeofthe following are symbols nfthe Nation of
Kenya. Which one is not? - :
A. The public seal
B. The Kenya Airports Authority
C. The National Anthem
D. The Ceat of Arms
56. The National day celebrated on 20th October is--

A. Kenyatta day
B. Moi day
C. Mashujaa day
D. Jamhuri day
57. The highest court in Kenya is:-
A. High Court
B. Magistrate Court
C. The Court of Appeal
D. Supreme Court
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59.

60.

61.

62.

63.

64.

65.

66.

67.

. Uncles, nieces, nephews and grandparents are

members ofi~

A. the single-parent family

B. the nuclear family

C. the adopted family

D. the extended family

The best way to stop drug abuse in school is by:-
A. fencing the school compound

B. punishing drug users

C. arresting drug dealers

D. educating pupils on the dangers of using drugs
The atlas mountains are examples of:-

A. Fold mountains B. Block mountains

C. Volcanic mountains . D. Residual mountains

C.R.E _

The MAIN reason why God placed man in the
garden of Aden was to:-

A. be near God

B. Cultivate and guard it

C. obey God and fill the earth

D. eat fruit from any wee

The son of King Saul who was a great friend of
David was:-

A. Jonathan B. Eliab

C. Prophet Samuel D. Abinadab

““What is that stick for? Do you think I am a dog?”
Who said these words?

A.Jesus

B. King Saul

C. David

D. Goliath the Philistine

Which of the following was created on the fourth
day?

A. Light B. Heavenly bodies

C. Wild animals D. Sea creatures
“Where is your brother?” God asked. I don’t
know. Am I my brothers keeper? answered.
A.Adam B.Eve

C. Abel D. Cain

I am a prophet, God chose me When I was in my
mother’s womb. Who am I?

A. Ezekiel B. Isaiah
C. Jeremiah D. Elijah

Moses did not want to go to Egypt because:-

A.Egypt was far
B. he was too old
C. he was not-a good speaker

~ D. he did not have an army
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68.

69.

70.
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72
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74.

5.

76.

773

In Samuel 17:28-30 one of David’s brother who
expressed his strong feelings when he heard David

talkto  men in the battle field was:-
A.Ehab B. Jesee
C. Jonathan " D. Abinadab

Elijah offered a sacrifice to God at Mt. Carmel to:-

A. thank God for the rain

B. offer a feast to Israi'tes

C. prove that Jehovah is the true God
D. reach an agreement with king Ahab

Who among the following was not a son of Noah?

A. Shem B.Ham
C. Enoch D. Japheth

Blessed are the peacemakers, for
A. they shall see God

_ B. they shall be called sons of God

C. they shall inherit the earth

D. their is the kingdom of God

The ability to notice something after thinking
carefully is:-

B. reconciliation

D. co-operation

A. judgement
C. Discernment
Which one is a secular value?

A.Fame B. Humble

C. Purity D. Joyful

In I Peter 1:13-16 says that we should be holy by
being obedient to God and not allow our lives to be
shaped by:-

A. earthly pleasure

B. evil desires

C. daily works

D. our parents

Which parable talks about the growth of the
kingdom of God? o

A. Parable of the pearl

B. Parable of the sower

C. Parable of the net

D. Parable of the mustard seed

Which of the following activities was not done by
the early believer? :
A. Visiting one another

B. Donating funds to help the needy

C. Buying land and giving to widows

D. Sharing meals and their possessions

Which one of the following is a hospital that was
established by the rnisshionaries? :

A. Tumutumu hospital ~

B. Kenyatta hospital

C. Nakuru District hospital

D. City Council dispensary -
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79.

80.
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82.

83.
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Which one of the following statement is true of both

Christianity and traditional African religion?

A. Both have the holy book

B. Both teach about the second coming of Jesus

C. Both have missionaries

D. Both teach about life after death

“Faith without action is dead” This words were

said by:-

A. James

B. Saul

C. Peter

D. Paul

Eternity will give Christians:-

A. strong faith in themselves !

B. happiness with God in his kingdom

C. pride in the faith

D. sadness in life on earth

Which one of the following is not arole of the Holy

Spirit?

A. The Holy spirit inspires us in our prayers

B. The Holy spirit bestows on us God’s gift

C. The Holy spirit reveals to us God’s truth

D. The Holy spirit mediates between God and man

Which one among the following is NOT true about

Christian services?

A. The Bible teaches us to be concerned with
serving others

B. When we serve others we serve the nation

C. When we serve others we serve God

D. We work to serve our interest

Which one of the following statements about God

in African tradition religion is FALSE?

A. God knows everything

B. God sends a saviour to his people

C. God can do anything

D. God makes a covenant with His people

What is self- esteem?

A. It is the concern we have for the welfare of
others

B. Itisthe pleasure we have when our neighbours
succeed in their work

C. TItisthe feeling of goodness about what we are
able to do

D. Itisthejoyofachievement in talking English

85.

86.

87.

89.

90.

Which of the following statements is not correct?

A. Ideasabout God it traditional African heritage
and Christianity are almost the same

- B. In the past God spoke to our ancestors.only

thrcugh the weather

C. There are differences and similarities between
African traditional religion and Christianity
D. Our ancestors were very religious

Formal education:-

A. involves reading and writing

B. wasthe one Africans had before white people
came

C. isnotfoundin Kenya

D. doesnotinvolve reading and writing

I'am ateacher. I should do three of the following

EXCEPT:-

A. coming toclassondime , ~

B. Telling lies to my pupils

C. giving each pupil the right marks

D. helping the weak pupils

Human beings should take care of thc environment

SO as to:- :

A. avoid the spread of diseases

B. avoid being taken to court

C. please those in authority

D. obey God’s commandments

Name one virtue required most as we interact as

boys and girls especially to avoid sexual sin.

A, Purity

B. Generosity

C. Willingness

D. Sharing

The missionaries opposed one of the following

African traditional practices.

A. Mining

B. Farming

C. Female Circumcision (FGM)

D. Hunting
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